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B.Com (Part ll) Examination, 2022
(Old/INew Course)
FOUNDATION COURSE

PAPER SECOND
English Language

Time : Three Hours] [Maximum Marks:75
[Minimum Pass Marks 28]

Note: Attempt all questions. All questions carry
equal marks.

1. AﬂSWEFﬂI’I}'ﬁ\i‘EGfthE fnllnwing: 15
(i) Whoisthe true daughter of old time?
{ii]l How were wounds sterilized in ancient India?

(i) Why did people invent computers?

P.T.O.

[2]

() When did the problem of water pallution start?

v) Whyis the method of plastic surgery known as
the Hindu method?

(wi} Whywas the bulky woman so full of grief?
(wil) Whatis informationtechnology?

(wiii) Describe the instrument that records the beat-
ing of the plant's heart.

(ix) What happened when Ramanujan's passion far
mathematics gained on him?

2. (A) Readthe passage carefully and answer the fol-
lowing questions: 5

Curiosity is certainly the best incentive for travel,
and especially for a trip to India. Whether you
class yourself as atourist or traveller, anyone vis-
iting India should approach his tour by borrow-
ing a little from Indian philosophy. India is a spe-
cial place, its people have a special conception
of life that is totally different from anything else in
the world. Itis this difference that compels people
to visitthis country, a curiosity to try and under-
stand what is this sub-continent to explore a

F - 3027
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country that is two-thirds the size of Europe ex-
cluding Russia.

(Questions:

(1)
(i)

(iii)

(iv)

(v)
2. (B)
(i)
F - 3027

Wy is curiosity the best incentive?

How should anyone visiting India approach his
taur?

Whattype of conception do the people of India
have?

How big is India compared to Eurcpe if Russia
is excluded from it?

Give a suitable title to the passage.

(i) Give antonym s of the following words (any five)
Modem, induction, eternal, alien, triumph, lique-
faction, Rapid, Huge 5
Make the following words negative by using pre-
fines (any five) 5
Complete, correct, possible, regular, legal, for-
est, fame, effective.

P.T.O.

[4]

(iii) Matchthe words in columnAwithcolumnB: 5

A B
Disease a chemical compound

produced  bythe body to combine with & neu-
tralize a particular foreign substance
called antigen entering the body.

Antibiotic  a disease of the eye

magic a medication designed to destroy
or restrain the growth of an organ-
ism.

Trachoma conjuring tricks

antibody adisorder caused by dist orinfection

3. Write a report on any one of the following in about
200 words: 10

(A)

(B)
(C)

Your college Annual function.
MSC camp you have attended

Student union Elections

(D) Areportonthe frequent power cuts inyour area.

F - 3027
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[5]

Expand any one of the following- 10
(A) Allthat glitters is not gald

(B) Honestyis the best policy

(C) Simple living and high thinking

Do as directed (any twenty) 20

(A) Insert Suitable article where necessary -

(B) Fillin the blanks with possessives or self form s of 'have’

(il Sheis little Hitler.
(i) Vinayis engineer.
(iii} Ilowe cricket.

{iv) Kolkatais largest city of India.

or 'do’

(v) She nothing to declare.
(vi) Doyou anyidea?

{wvil) as you wish.

(C)Fillinthe blanks with possessives or self farms

F-3027 P.T.0.

(will) Karan has made VENY Unpopular.

[E]

(ix) “ou mustdoyourwork

(D) Complete the following sentences by using the com-

parative degree of the words underlined-
(x) You are notvery fall. Your brotheris

(xi) The Kknife is not very sharp. Have you
got one.

(E) Fill in the blanks with the present indefinite or present

continuous forms of verbs provided in brackets:
(xii) ThelIndians (live)in India.

(xiii) Dhithi (read) a novel now.

(F) Fill'in the blanks with suitable madals.

(xiv) She tell her father the whole fruth.
(Absence of courage)
() The gladly accept the offer.
(willingness)
(xovi) wou prosper and live long.

(blessing)

F - 3027
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(G) Putthe following sentences into the passive form.
(vii) The king gave her a reward.
(xviil) Who did this?

(H) Fillin the blanks spaces with appropriate prepaositions:
(xix) We must hope the best.
(#x) Canlspeak the principal?

{I) Combine the following pairs of sentences by using
‘and' or 'then' or 'not onky-but also’

(xxi) Karan came to college by car.
Raina came to college by car.
(xxil) She is beautiful.
She is intelligent.

(J) Replace the undedined words with a gerund construc-
tion.

(xxiii} She hates to do homewaark.
(xxiv) Forgive herthat she had to interrupt you.

(xov) Seeingis believe.

F - 3027
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B.Com. (Part - ll) Examination, 2022
(New Course)
(Group -1)
Paper First
CORPORATEACCOUNTING

Time : Three Hours] [ aximuom Marks: 73

iz : WS SPE A UP WA B B Afard 211 aei
Wl & 376 TEE £

Note : One question from each unit is compulsory.
All questions carry equal marks.

& - 1/Unit - 1

1. JYF JETEROT & BT WHHIRT {6 o1 wAi & P
vl fpmfaRea uRRefal 3§ Far uah wfafe g

P.T.0.

(2]

) e W e vd o Wi
i) 951 W i v aeem woge
iii) wEnS o) Fria dar T o o
iv) agi W i e venfs ) gies

Explain with necessary examples. The journal entries

(
(
(
(

to berecorded in connection with the issue of deben-
tures under the following cases:

(1) Issue atparandredeemable atpar.

(i) Issue atdiscountand redeemable atpar.

(i) Issue atpremium and redeemable at par.

(iv) Issue at discountand redeemable at premium.

FEIOR

v ST & HfgaTor & 2 10 @Te 1,00,000 9l & fow
71 Wi 309 & ety o WA um st e
7 5 ST UF U, 2 3.50 (YEnta |ied) sEe Ul a9
2 2.50 HIT W 37 &

150000 3% & fore wmeim o=t wma ge, o § 25000
391 & fom amaesTua ardiga ge ik Jwa Ui srdigd
& &1 TS| 99 IAEE! &1 IS e i T
HfRes wrefen o= &t ufdrt &t 3udn anded W 39
Tt & fore fasan |
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wng fors 200 3w srafea fomd 70 &, amde @ i
TR ST R B GHE 7 I 6T AR 36 3R &
BUT % @18 H ¥ 10.50 Wi 3791 W 3Ron & g7 Fife
fodr 2| 3udEa sEER & Usi wfafedl sl

A company's prospectus invited application for
100000 shares ¥ 10 per share at a premium of
¥1 each payable at to ¥5 on application, ¥3.50

(Including premium) on allotment and ¥ 250 on call.

Applications for 1 50 000 shares were received of
which applications for 25 000 shares were refused and
money returned. Allotment was made pro rata to the
remaining applicant. Excess application money he-

ing applied towards the amount due on allotment.

Prasad to whom 200 shares were allotted, failed to
paythe amounts due from him on allotment and call,
his sharesbeing forfeited and subsequently re- issued
to Prerana at ¥ 10.50 per share. Show the journal

entriesrecording the above transaction.

F - 3028 P.T.0.

(4]

BT - 2/Unit - 2

. A vd fauea A 3N W #ifee] gAE @t Gt

Tttt &t = $iEmw|

Distinguish between winding up and dissolution.
Describe the different modes of winding - up.

FE/OR

T ifer o e @, s T 10 e @ sttt
Tt & usiraa g2, 5 fi 2 10 aw afet 7 fawise £,
3 & 40,000 3ie Frifie 3 pofem &1 31 @, 2022
@I AeIC §9 UOK 4T

feramor sfge 9w | sfec 9w
() ()
e (1 e, 2021) 1,86,420
o4 vd fama 7.18,210 | 11,69,900
G 12,680 9,850
frmfott wemer 1,09,740
fafaer Fmfott e 19,240
EE TS WIST 4,910
18% & o7 (FRfEr) 50,000
F-302%
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a4 WUT W =05 4,500

HAed da- T &g 17,870

3TCETUT T[eh 8,600

BEIREAG AR IEEITET 26,250

yRiNE & 6,000

AT WaT 1,64,210

TUE B T 1,28,400

TR 5,000

el aitam 12,500

e 09 T aR 1,05,400 62,220

&I H T8 19,530

ad® ¥ JPs 96,860

A T BT g 84,290

1 3e, 2021 @

GIEEIERGERE ) 38,640

arer T 4,00,000
17,30,610 |17,30,610
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31 WId 2022 W q v AeTgll v g
BIAErd da A T 1,890 T 1,200 o7 399 &=
T 1 YedicA 2 1,24,840 3 el 3SR T 10,000
2

de U1 W 6 WIE H &1 &A1 &

WI0E U WIER UX 15 @l &< 9 Ud ®died
TTaE U 10% i &< W & e 21

TS oot &l 1/3 9T Fuferad & gl
TS o T8 50% I HGIa= I 2

Tt H 31 HIE, 2022 @] fTHIE W foear,
13.068% FTHIY BT &< AT

The Manisha Auto Parts Manufacturing Co. Ltd. was

registered with an authorised capital 10 lac divided
into shares of ¥ 10 each of which 40000 shares had
been issued and fully paid. The following is the Trial
Balance extracted on 31st March, 2022

F -3028
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Loose Tools 12,500

Debtors and Creditors 1,056,400 62,220

Cashinhand 18,530

Cash at Bank 96,860

Advance paymentoftax 84,290

Statement of Profit &

Loss on 1stApril, 2021 38,640

Share Capital 4 ,00,000
17,30,610 |17,30,610

Particulars Debit Bal. |Credit Bal.
() ()

Stock (1 April, 2021) 1,86,420

Purchase and Sales 7.,18,210 | 11,689,800

Return 12,680 9,850

Manufacturing Wages 1,098,740

Sundry manufacturing

EXPENSES 19,240

Carriage Inwards 4,810

18% Bank Loan (secured) 50,000

Interest on Bank Loan 4,500

COffice salaries and expensed 17,870

Audit Fess 8,800

Director's Remuneration 26,250

Preliminary Expenses 6,000

Freehold Building 1,644,210

Flant and Machinery 1,28,400

Fumniture 5,000

F-3028

P.T.0.

You are required to prepare statement of P/Lthe year
ended 31 March, 2022 and a Balance Sheet as at
that date after taking into consideration the following

adjustment.

()  On31stMarch, 2022 outstanding manufactur-
ing wages and outstanding office salary stood
at ¥1.890 and %1200 respectively. On the
same date, Stock was valued at ¥1 24 840 and

Loose tools of ¥10.000.

(i) Provide for interest on Bank Loan for 6 months,

F -3028




9] (101

(i) Depreciation on plant and machinery is to be S #m 2
provided @ 15% while on office furniture it is to -
be @10% | e v o
. : : o (1) smaial @ 2w
(iv) Write - off one - third of preliminary expenses.
(31) 3rT it 30000 3% W 10 | 1 |3,00,000
(v) Make aprovisionforincome Taxat50% )
(@) W T IS 2 | 86,000
vi) The directorsrecommended a dividend @15% &
" forthe year ending 31st March, 2022 A?sume Gl |
i : ' MRS 37 (FEr) 71,000
13.068% Dividend Tax Rate. _
W & o yaam 55,000
A1+ 2 5,12,000
EH!TQ - 3/Unit -3 -
n II. Tt
) Hﬁﬁ_ﬁswﬁaﬂqﬁﬁﬁmﬁﬁmﬁ?mﬁa (1) ¥ - e T
Weuid @ F Wt faftr ed gma faflr & gamor o s 3 |2.65.000
afEa smrEn Sifav .
(2) =] wwfa:
What are the various methods of valuation of shares? FNE W T 1,15,000
D.EEEIihE aﬁd illustrate the Net Assets method and % A 95,000
Yield valuation method.
kg T8 U HHed
ITE/OR ,
&® ¥ Vb 37,000
31 H, 2022 & 9 foiftts & Rerfer - Gavor 3 Feafofaa -
M1+ 2 5,12,000
i wese &t ot

F-3028 P.1.0. F-3028
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T T B AT BT Hreids] DiTe IR 59 38 The Balance Sheet of Nand Ltd. disclose the following
ﬂﬁ%ﬂmﬁﬁﬁﬁwmﬂﬁﬁlﬁﬁ positon ason 31 March 2022
() g i 5T 3 wEad & weR 1 et Particulars Note

I3 = 3 @ 12% 21 No. 2
(i) IR vd g & fore e 3 vaie e i |. Equity and Liabitlies

T 2 (1) Shareholders'Fund :
(iii)  HTTEBT B &Y 50% UL ¢ 37 Tl 2| (a) Share Capital 30000
(iv) Tireer difer @it et g1 Efere emeier o st shares of 10 each 1 |3,00,000

it _15% il ” (b) Reserve and Surplus 2 86,000
o grae emfurt T o

i (2) CurrentLiabilities:

(1} 3R ﬁ _ Trade Payable (Creditors) 71,000

SFDDU W il 10 goter _S,Uﬂ,ﬂﬂﬂ Provision for Taxation 55,000
(2] ¥ T i Total 1 +2 5,12,000

ot e 60,000

|Il. Assets:
BTy faaRvr o 26,000
PR~ Rt (1) Mom- current Assets
_ ﬂ Tangible Assets 3 2,865,000

(3) ]qrﬁ AT (2) CurrentAssets:

o T 17200 Stock on Cost 1,15,000

RERLR LI il Debtors 4 | 95,000

M Cash and Cash Equipment

(4) &R | 56000 Cash at Bank 37,000

(-) wfewr ®OT & fo0 @A 3,000 95,000 e =T

F-3028 P.1.0. F-3028
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You are asked tovalue of goodwill ofthe company for

which purpose the following information supplisd.

(i)

(i)
(iii)
{iv)

(1)

(2)

(3)

(4)

F - 3028

The reasonahble return on capital investedinthe
class of business done bythe company is 12%

Adequate provision has been made in the
accounts forlncome Tax and depreciation.

Rate of Income Tax may be taken at 50%

The average rate of dividend declared by the
Company forthe pastfive yearswas 15%

Motes to Accounts: T

Share Capital:

30000 equity share of 10 each fully paid
3,00 000

Reserve and Surplus:

Capital Reserve 650 000

Statement of Profit & Loss 26 000
~ 86,000

Tangible Assets:

Land and Building 175000

Plant and Machinery 90 000
2 55 000

Debtors S8 000

(-} Provision for Doubtful Debts 3 000 95 000

P.T.0.

[14]

F®BE - IV/Unit - IV
4. USERYT & Faed ¥ 59 ST @ 9EE 8 o g,
o [ & - G W B s &
What journals entires should be passed inthe book of
a company that goes into liquidation for the purpose
of amalgamation?
FE/OR
Tt a1, Ud | @, T 31 AT, 2022 B vehtaT
&q wEa g g Ty @) 3 g Pt o
tn| mis| @&
feraor . o, .
(¥) T)
|. HWaT 0d il
(1) srEmenfiat & ®m:
(31) = fjﬁ[ 1 |14,00,000{10,00,000
(@) Wog w@afRa | 2 | 4,40,000| 4,50,000
(2) 3T 3maed
e diad
(3) R - = i
(4) T e
RE 39 (FRR) 60,000] 1,00,000
2L 19,00,000] 15,50,000
F-3028
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Il 3nfar:
(1) ¥ - 9 wkwrn
(31) W T 12,50,000 | 9,80,000
(@) snd wwafoal 1,00,000 | 1,50,000
(2) @ wafoar:
(31) waer 1,30,000 | 1,60,000
(§) TURS T (376N 2,80,000
1,40,000
(|) IdE v Ubs T 1,40,000 | 1,20,000
am 19.00,000 | 15.50,000]
g ufee B T Bifoe HR e 3 ! #§ ot

wfafic o A gE difore s 3wt ewaia ST arfaa
[ e o T £ | 5 Sihe S Y foard &.

for. gm 100 W & qof gaan wwan e & faar sn

&l

TEHIERUT B e B TPl § e g AR @, @

feerfer feraor a=mge|

F - 3028

P.T.0.

[16]

Sharma Co. Ltd and Soni Co. Ltd. agree to amalgam-
ate as from 31 March, 2022 on which date their re-

spective Balance Sheets were asfollows:

Particulars INote] Shamal SoniCo.
Mo.| Co.Ltd | Coltd
|. Equity and Liabilities:
(1) Shareholders'Fund
(@) Share Captal 1 |14,00000(10,00000
(b) Reserve and Surplus | 2 | 440000 4 50,000
(2] Share application
maoney pending alloment
(3) Mon-Current Liabilities :
(4) Current Liabilities:
Trade Payable (Creditors) 60,000} 1,00,000
Total 19,00,000 |15,50,000
Il Assets:
(1) Mon- current Assets:
Fixed Assets: 3
(a) Tangible Assets 12500001 980,000
(b} Intangible Assets 1000000 150000

F -3028




171
[2) CurrentAsseis:
(a) Inventones (Stock) 130000 § 160000
(b) Trade Recewnables
(Debtors) 280000 | 1.40000
{c) Cash and Cash 4
Equwalents 140000 7 120000
Total 19,00,000 15,50,000

Calculate purchase consideration and pass journal
entriesin the books of Transferor Co. Assuming that
the Assets and Liabilities are equivalent to the book
value. The payment of purchase consideration is o
be made by the Tiwar Co. Ltd. in fully paid equity share
of #100 each. Also prepare the Balance Sheet of the
Mew Co. TiwariLtd. when the above amalgamation is
inthe nature of merger.

BT - 5/Unit -5
- A @ T

(37) TEfer @ MO
(@) G T @t o

F - 3028 P.T.0.

(18]

(W) Feawd f&a &t o

(&) = a¥eT &3 oH
Explain the following.

(a) Calculation of Goodwill

(b) Calculation of capital Reserve
(c) Minorty interest

(d) Unrealized Profit

FE/0OR

1-4-2021 @ Y 1.9 Z fe.%5 210 amer 1800 379 2
36,000 & dng W Ba fEd mia S s a2z
fo1.% o - B faawor &1 awme 29 T 24,000 o)
fer=ifera g © o v o1, iR oo wEms Z o1, @
31 AT 2022 & Tl fugr sz

Y wg Z Tor. o g (31-3-2022 @)

faaor | v | 7z
ki (%) (%)
| |1 U9
(1) siemnial & &9
(31) 3T T 1 |2.00,000 | 20,000
(4) ¥ vd ARE 2 11,20,000 | 30,000
F-3028
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(201

710 T@Tet 20,000 3=

2000 3797 T T 10

(2) ¥=rg ve Hfeds:
[H T4
G IR REEECRE]

(3) 5 afRra:
RS gridl

U TE W

2,00,000
20,000
2,00,000 | 20,000
1,00,000
20,000 | 30,000
1,20,000 | 30,000
1,80,000
28,000
218000 .

(2] de andaa:
RS &d 60,000 | 4,000
3,80,000 | 54,000
II. Tafer:
(1) fR-aer wwfer:
T Hefer:
T TR 2,18,000
fafam A w 4,000
7%, W AT 10 awl
1800 379 36,000
EEJEFIF‘];?.‘:I'DJﬁI'ﬁ:
EGIRE] 60,000 | 10,000
RS AT 40,000 | 14,000
ehe, vd U THed 26,000 | 26,000
T 3,80,000 | 54,000
ot &Y oo
e 3 3
(1) 3 T3
F-302%

P.T.0.

On 1stApnl 2021 Y Lid. acquired 1800 sharesof T 10
each in Z Ltd. at a cost of ¥36,000. At the date of
acquisition Z Ltd. had a credit balance of ¥ 24 000 in

its statement of Profit & Loss.

Fromthe giwvenahead Balance Sheets prepare a con-
solidated Balance Sheet of ¥ Ltd. and its Subsidiary

Z1td asat31-3-2022.

F -3028
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Balance Sheet of ¥ and 7 Ltd.

(as on 31st March, 2022)

(22]

Accounts notes :

Farticulars %) )
(1) Share Capital:
Authorised, Issued Share Captal:
20000 share ¥10 each 2.,00.000
2000 shares @3 10 each 20,000
200000 | 20,000
(2} Reserve and Surplus:
General Reserve 1.,00.000
Statement of PIL 20,000 | 30,000
1,20,000 | 30,000
(3) Tangible Assets:
Freehold Property 190000
Plant and Machinery 28,000
2.18.000

Particulars Note Y Ltd ZLld
No. (¥) (¥)
I. Equity and Liabilities:
(1} Shareholders' Funds:
(a) Share Captial 1 | 2,00,000 | 20,000
(b) Reserve and Surplus | 2 |1,20,000 |30,000
(2) Current Liabities:
Trade Payable 60 000 4000
3,80,000 |54,000
Il Azsets:
(1) Mon - current Asset:
Fixed Assets
Tangible Assets 3 |2.18,000
Investment on Cost 4 4 000
Share in £ Co. at cost:
1800 shares 10 each 36 000
[2) Current Assets:
Stock 60,000 |10,000
Trade Receivahle 40000 14000
Cash and cash equivalents 26 000 126,000
Total 3,80,000 |54,000

F - 3028

P.T.0.
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B.Com. (Partll) Examination, 2022
(New Course)
(GROUP -1)
Accounting
PAPER SECOND
Company Law

Time : Three Hours] [Maximum Marks:75

Ate: il uie weel & 3T 5w Teds seE 9 ve wee
&1 Afrard 21 |4t wesl & 3w wu= £

Note: Attempt all the five questions. One question
from each unit is compulsory. All questions
carry equal marks.

BT - 1/Unit-1

1. UE HuHl & uRafig &5 dufaai & i verd
&1 auf= Sifsu|

P.T.O.

[2]

Define a company. Describe the various types of com-
panies.

FEoOR
Hecieh! & T 3T &7 Bl P Hadeh! & By SN
vd Eifaeal &1 THsEe|
What doyoumean by promoters? Explainthe functions,
rights and liabilities of company promoters.

18 - 2/Unit -2

. UTdE T W 319 a9 OHEd €7 Sl favg-any

T 87 ST DI

What do you understand by Memorandum of Asso-
ciation? What are its contents? Explain.

FUEI/OR

390 & EATAUT Bd NI H oY gdse| 30E &
e & g faf &2

Distinguish between transfer and transmission of

shares. What is the procedure for transmission of
shares?

F - 3029
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T8 - 3/Unit -3

3. HUUA | AT T GHE 22 U B ER S EA #P v

HUET @ HUT o & HIEERI UL 9T uiada 22 auiE
B

VWhat do you understand by debenture? What are its
Kinds? What are the restrictions on the borrowing pow-
ers of a company? Explain.

HYGI/OR

@ siferfrem & siefa e @ Fgfe @ aiathe
W Hat waenET &1 wtane e afse)

Briefly state the provisions of the companies Act re-
garding the appointment and remuneration of the di-
rectors of a company.

EHTS - 4/Unit-4

. denfores |1 9 39 @ wHE &7 danfae |w & Hey
# gfta & oda g #ftER foRaw)

What do you mean by statutory meeting? Write the
duties and rights of secretary in connection with statu-
tory meeting.

F - 3029 P.T.O.

[4]

FEOR

wfe G ¥ 370 F9T FEH &2 Wi gRI Aae &
SEPRECIRICHICE

What do you understand by a proxy? What are the
legal provisions inrespect on voting by a proxy?

B&TS - 5/Unit -5

. el gry tfime |wE vd muEansi g i

HHUA ¥ 3aT W SIS0 USRI gRT bfems aHe
& gau § denfas yauEl & 3coig Sl
E}(plainthe difference between members' and credi-

tors' voluntary winding up. Give the provisions of law
regarding creditors' voluntary winding up.

FEOR
TEAT & W B T DI UF §6 g & 3Iara!
B G FaEe|

Explain the rule of Majority and also describe the ex-
ception of this rule.

F - 3029
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F-3030

B.Com. (Part - ll) Examination, 2022
(New Course)
(Group-ll) Business Management

PAPER FIRST
COST ACCOUNTING

Time : Three Hours] [ aximum Marks: 73

iz : |t o weel & IO Ao | Welie ST 9 ve We e
&1 Jifard 21wt wesl & s aw e )

Note : Attempt all the five questions. One question
from each unit is compulsory. All questions
carry equal marks.

B®1E - 1/ Unit - 1
1. "AWTE orEieA R s ®) U 9T & faradn
& T g3 &1 fEwtt Hifw)

P.T.0.

(2]

"Cost Accounting is a branch of financial Accounting
andithasheen evolved to do away the limitations of
financial accounting and to meet the needs of man-
agement." Comment.

Har/ OR
1 3R 7 wAriEt & v e ver g g
HAE SN Hes 10 Seedl Sid aae

wEATH IUEAT : Wces 5 SeEdl Wi A
Hiempan IUdm - WS 15 SEEdl Aid TwE
UH: HEITAET A 60 SHIEdl, B 100 gHdl
O SR 3@ ¢ A-3 95 HWE

B-2¥ 49w
e e B TR & foe e Tt @t o i)
1. O R Wl
2. gHIH ®R|
3. FfEman W

4, 99 T WY

F-3030
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A and B components are used asfollows:

Mormal usage > 10 units perweek of each
Minimum usage : 5units perweek of each
Maximumusage : 15 units perweek of each

Re-order Quantity : 'A'60 units 'B' 100 units
Re-orderperiod : 'A'3to 5 weeks

‘B'210 4 weeks
Calculate for each componentsthe following levels
1. Re-orderlevel
Minimum level

Maximum level

= WM

Average stock level

B®ME - 2 / Unit - 2

. BREF JUNEY & Ham @ fafirs ugfaal @
faaa= @it e gensi o, SREHr uied & Jfts
HTIEOT BT A &7

Discuss the various methods of absorption of factory
overheads. Underwhat conditions, it is said to be over-
absorption factory overheads?

F-3030 P.T.0.

(4]

Jegar/ OR

BIed TIsHT a9T g AT & 3id U D &
Jutsi o gnm afe ag FefRa 75 gt &t e 60
Hug 3 fet o1 &1 g @ o & | I gveT aY 2 W,
# T I e IS § TAR WA @ 50% A
Tepan w21 3% wilwfis & wiafes s 8 ave
% wifes &1 8 ®. wes s 4t e 2

What earnings will a workman receive under Halsey
scheme and Rowan scheme if he execuies a piece of
work in B0 hours as against 75 hours allowed? His
hourly rate is ¥ 2 and he is paid 50% of the time saved
under Halsey Plan. He gets a dearness allowance of
¥ 8 per hoursworked in addition to hiswages.

BFTE - 3 / Unit - 3

3. v thaedl & di< Ul & Ied1E AT & dcd FTeTad

r &
faawor 2017 2018 2019
z z 3
B 90,000 | 60,000 | 1,20,000
ST 40,000 | 35,000 | 45,000
F-3030
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HREMHE! JuRed | 25,000 24,000 26,000

WA IR 10,000 |10000 |10.000
ot IuRaa 12,000 |10.000 8000
IS (g9 H) 6000 4000 8000

Jueh WHe! & IR W 10,000 27 &G HTAH FaR
Fifame, f5ma 2020 7 3ame= g sifaw e ) 10%
ATH Tang gnmi

Following are the elements of cost of production of a
factory forthree years:

Particulars 2017 2018 2019

L4 T T
Materials 90000 | 60000 (120000
Labour 40 000 35000 45000

Works overhead 25000 24000 26000

Administration

overhead 10,000 10,000 10,000
Selling overhead | 12000 10,000 8000
Cutput (in ton) 6000 4000 8000

Onthe basis of data given above prepare an estimate
for 10,000 ton to be produced in 2020 profit of 10%
on final cost will he sufficient.

F-3030

P.T.O.

(6]

Fgar/OR

a+] Beha] ol Ul B o 1 kel 2021 & AR HRH
femam| 3,00,000 ¥ & & W Frfoiad = go-

& @ fenifir amt 51,000 .
ST Bt WD T 15,000 5.
mitstaes & 81,000 .
3= Y §Y 5,000 &,

31 W 2022 g6 yWIUE & & 80% & ReE &
1,28,000%. -I7IE &9 @Nd U 0T g31| % @ 919 160l
T d WEUT H 3000 W, B TN U TUE g 2500
. T T A @l TS| 31 " 2022 B 2000 F, &
FIRTA R F0E T a1 eitet el Y vk rwfore ard
I AN 1000/- &, ot 3l 2300/- =, & ema & |
T W B9 H |

0T & 15% & T3 ditee, uiE oy & 1/3 Red
Bifare 3 Iwes faawor & 3@ @ TR B

A Firm of building contractors began to trade on 1%
April2021. The following was the expenditure on the
contractfor ¥ 300,000

F-3030
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Materials issued to contract <51.000
Plantused for contract < 15,000
Wagesincurred ¥81.000
Cither expensesincurred T5 000

Cash received on account fo 31 March 2022
amounted to T 1 28 000 being 80% of the work certi-
fied ofthe plant and materials charged to the contract,
plant which cost €3 000 and materials which cost
T2 500 were lost. On31¥™March 2022 plantwhich cost
T2000wasreturned to stores, the cost of work done
but uncertified was ¥ 1000 and materials costing
T2 300 were in hand on site. Charge 15% deprecia-
tionon plantreserve 1/3 profitreceived and prepare
a contract account fromthe above particulars.

B®1E - 4 / Unit - 4

. UH AT F1 Iae aF = uianit @ e e
quiaT @ W awar 21 3 ufga & ar, @ g
firer arwa & g7 w19 oo man 2 5 v wfdsn
a7 FrefoRas wer gar 81 wfsar 31 2% wfear &
5% wichar |’ 10% |

T 290 § &9 @ uiaera uiedr § wae & @
SEHTEAT B T 1 @ A &

F-3030 P.T.0.

(81

W WEa o1 71 P A Hed T & Wi 3v
qT '’ B & 5 6. Wid 100 gHEAT $H =X F, T
wicean & @ 20 ¥. Wid 100 SHE4Al B &< &= Sl
| U ithaT @1 IeTE AN Wb B i S
S & Fen i sesat o ik @ e 1 99 ST
&l

Frferaa = wra &-
widsan “317(®) wigsar & (®) wiban ¥ (%)

A T 6,000 4,000 2,000
TeTAT S 8,000 6,000 3,000

fmior &= 1,000 1,000 1,500

10,000 &, I AN | 20,000 FEEaT ‘' &1 Faffag &
T €| Weie Wihan &1 Ieae FEferiad veR g-

wigsar '3 19,500 Wisar ‘@' 18,800 WiHar | 16,000
Tt oft wftman & ®1¢ o & T8 €|

wighaT T IEd 91 o Fdean w, @ S
afam|

The product of a company passesthrough three dis-
finct processesto completion. They are known as A,

F-3030
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B and C from past experience it is ascertained that
wastage isincurred in each process as under:

ProcessA2%, process B5% processC 10% in each
case the percentage of wastage is computed on the
number of units entering the process concurred. The
wastage of each process a scrap value. The wastage
of process A and Bis sold at Rs. 5 per 100 units and
that of process C at Rs. 20 per 100 units. The output
of each process passesimmediately to the next pro-
cessand the finished units are passed from process
C into stock.

The following information is obtained:

(Process A)(Process B) (Process C)

Materials
consumed 6 000 4 000 2000
Direct labour 8,000 6000 3 oo

Manufacturing
EXPENSES 1,000 1,000 1 500

20000 units have been issued to processAat a cost
Rs. 10,000 the output of each process has been as
under:

FProcess A 19500, process B 18 800, process C

F-3030 P.T.0.

(101

16 000. There is no work-in-progress in any process.
Prepare process accounts and the calculation should
be made to the nearest rupee.

Jgar/ OR

ufameE o faftr & @@ afinma @2 oy Ee-fee
F H 30ETE ST &7 v aramard U= @ ua
Hiea-s 3l dfed daR Hiw vd o afnfafs w2t
B THEEd |

Whatismeantby ‘operating costing'? In which indus-

tries is it used? prepare a transport operating cost
sheet with imaginary figures and discuss the various
items included in it.

g®1E - 5/ Unit -5

. 3w & T SR & Frefeles s S
1, TH-HE AU
2. IRl @nd
3. gRem A af 2021w 2022 & fow
4. wo-faode fag = o

F-3030
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5. 10,000 %. 9 T o fore [T va [Ra 3reran/ OR

EIECAES Tdhighd @I ¥ 31T T THFA &7 SHE Havad Aedv]
o & (v et (W) ﬁ%ﬁmmﬁ?ﬁ@wﬁmﬁﬁm
2021 25,000 5,000 (&)

What do you understand by Integrated account? What
2022 75,000 5,000 (eTH) are its essential features and principles? State the
advantages of integrated accounts.

Calculate the following from the information given be-
low:
1. Profitvolume ratio
2. Fixedcost
3. Margin of safety for 2021 and 2022
4. Break-even pointin Rs.
To earnprofit of Rs 10,000 Salesvalue and mos.
Information:
Year Sales(Rs) ProfitiLoss (Rs.)
2021 25000 5000 (Loss)

2022 75,000 5000 (Profit)

F-3030 P.T.0. F-3030
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F-3031

B.Com. (Part - ll) Examination, 2022
(New Course)
(Group-Il)
Business Management
PAPER SECOND
PRINCIPLE OF BUSINESS MANAGEMENT

Time : Three Hours] [0 aximunm Marks: 75

die ;|3 o weel & IR | wede g 9 ve v

& Fard 21 w5t weEl & e gwE #)

Note : Attempt all the five questions. One gquestion
from each unit is compulsory. All questions

carry equal marks.

B®1E - 1/ Unit - 1

1. "way wfedl @ e g, 7 i awga & Fdeml e 5w

P.T.0.

(2]

Y B W Bitoe 3R vEy & qea THeEd|

“Managementis the development of men and not the
direction of things.” Explain this statement and
describe the importance of management.

Fgar/ OR

wEITEfE Fae & 8 o g1 thiler & de & fadeEr
HIfE|

Discuss the contribution of Henry Fayol in the field of
administrative management.

§®TE - 2 / Unit -2

. Toism & ol i) veg o 59 3890 e vEE

Bl W DL

Define planning. Explain its objective and importance
in management.

JTar/ OR

It FHiea vay & @ 9 €2 590! gaET & &
fere amads @ ggma €2

F-3031
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What are the limitations of management by objectives
(M.B.C.)? What are your suggestions to make it ef-
fective?

B®8 - 3/ Unit - 3

. rtiamor &ty S| et &1 waifad
& a1 Ued] & 98 # gaEe|

Define decentralisation. State in brief the factors af-
fecting decentralisation.

FeEar/ OR

T T BHAR] WA H oohIEe & BRUI W% Hiise
T 39 HuY B @ T & JIT a=e|

Explain the problem of ‘Line and Staff’ relationship.
Suggest remedies to solve it

B®1E - 4 / Unit - 4

. AR ¥ T T T £ 7 TP 3G AT sAaw
& WG9 ded] B ST Bif e

What do you mean by motivation? Discuss the main
elements of 2 sound motivational system.

F-3031 P.T.0.

(4]

31eran/ OR
forae @ waer yomferat & aui Sifeml

Describe Likert's management systems.

BF1E - 5/ Unit -5

. g @ 7 weartas vag o Faae & Bg v

witan &1 avE il

Whatis control? Describe the objectives and process
of control in business management.

Jean/ OR

uRad &1 uay a1 7 uRaa=siie aramaor H§ Uat &
I ge fafaat @ avfa S

Whatis management of change? Describe the emerg-
ing horizons of management in a changing environ-
ment.

F-3031
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F-3032

B.Com. (Part - ll) Examination, 2022
(New Course)
(Group-lll)
APPLIED ECONOMICS
PAPER FIRST
BUSINESS STATISTICS

Time : Three Hours] [0 aximunm Marks: 75

die ;|3 o weel & IR | wede g 9 ve v
T Ffard 21 | vl & i A #

Note : Attempt all the five questions. One gquestion
from each unit is compulsery. All guestion
carry equal marks.

B®1E - 1/ Unit - 1
1. Wit gen fadias a6e | s Fon Htwy 27

P.T.0.

(2]

= TS S SURd B &I fatr= Ofcdt @ we
Bt 15

What do you mean by primary and secondary data?
Explain the various methods of collecting these data.

e/ OR

Frfafaa sieet 3 wea, wnitaes qur Yfices w9
B

Tt (| HfEa) 10 15 20 25 30 35 40
AT @ = 40 37 31 23 13 06 00

Find the mean, median and mode from the following
data:

Marks (More than) 10 1520 25 30 35 40
Mo of Students 40 37 31 23 13 06 00

BE1E - 2 / Unit - 2
2. fagwar & ol €if5e) oz swfer 3 e ver
fir=1 27 fomwan & fafi= w0 aae) 15

Define Skewness. How does it differ from disperson?
Discuss the various measures of skewness.

F-3032
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e/ OR
=1 4ot 3 Frel o= @ fowre Tond e &
& (F AES) 0 10 20 30 40 50 60 70

OET B W@ 100 90 75 50 20 10 05 00

Calculate the Karl Pearson's coefficient of skewness
of the following series-

Marks (Morethan) 0 10 20 30 40 50 60 70

Mo. of Students 100 90 75 50 20 10 05 00

B®ME - 3/ Unit - 3
. Iy O] e ol fefae) 15

Write a short note onLinear Regression.

@/ OR

ufer 3R et @1 3 & Frefaiad siwet & e o
o= & FEway oTd ®I T0HT Bifore-

uff@ramg 20 30 40 50 60 70 80

UG I3 14 25 30 32 40 45 65

F-3032 P.T.0.

(4]

Find the Karl Pearson’s correlation between the age
of husbands andtheirwives:

Husband'sAge 20 30 40 50 60 70 80

Wives Age 14 25 30 32 40 45 65
B®1E - 4 / Unit - 4
. = et 3 feer & Fdonie & A @ifoe- 15
g | IR a4 EIGEGE]
s | g g | s | oa @
T (T) gag X)) ()
1 2 40 5 75
2 4 16 8 40
3 1 10 2 24
4 3 25 10 60

From the following data Construct Fisher'sIndex Mum-
ber

[tems] Base Year Current Year

Price per | Total Price per| Total
unit(¥) | Expendiure| unit (¥} | Expendiure

F-3032
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1 2 40 5 75

2 4 16 g 40

3 1 10 2 24

< E | 25 10 60
Fear/ OR

UF EIe- A1 & &fi= duest ® THEd Us E-
Soft 7 3u=fer FreiRa == o fafir= faftet & aofa
Fifaw|

Describe briefly the different components of a time
series. Describe the different methods for determin-
ing trend in atime series.

B®ME - 5/ Unit -5

. SIS WA &I a3 §? FH! o g
BT &? yHvEa & fawa qaiee @ wafed @ an
Heds ol aesEd| 15

Whatis meant by business forecasting? How much it
isreliable? Explain the factors affecting the sales fore-

F-3032

P.T.O.

(6]

cast of company.

Jean/ OR

A s ok 7wt & d d Ao T
et € 3R 2w 3t 3 g oy g faen | e iR
% g 3R Pt 11 59 g 5 @@ mitea 2 -

(i) @t e wisa gnit

(i) Ugell Hhe 31X gET et Ent
(iii) Ugel diel AN gE wiba it
(iv) gt T & a1 & 8

(v) EFT -3 3 & &

A Bag contains 5 white and 7 black balls. A ball is
drawn outofit and replaced inthe bag. Then a ball is
drawn again. What is probability that:

(i} Boththe balls drawn were white

(i) The firstwas white and the second hlack
(i) The firstwas black and the second white
(iv) Both were the same colour

(vi Bothwere ofthe different colour.
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F-3033

B.Com. (Part Ill) Examination, 2022
(New Course)
(Group -lll -Applied Economics)
PAPER SECOND
FUNDAMENTAL OF ENTREPRENEURSHIP

Time : Three Hours] [ aximum Marks: 73

dre ;. wit ore weel & 3T 5w v 5o | v e
& Afrard 2| | weel & 3 A #)

Note : Attempt all the five questions. One question
from each unit is compulsory. All questions
carry equal marks.

B®18 - 1/ Unit - 1
1. Fathar & @9 sme &7 s fastmanst sk uelE &

P.T.0.

(2]

ICEERIRI

What ismeant by Entrepreneurship? Discuss its char-
acteristics and nature.

FeEr/ OR

It & fa@m § arfas il yaiator & g
&I e # auie Sifae)

Describe in briefthe contribution of socio-economic
environment inthe development of entrepreneurship.

g®E - 2 / Unit -2

. SEas Eedl & faeemer @ @ sme 87

EAHTS GGl o [H2eu & BE-o ¥ Fid 87
Ui Bt

Whatis meant by business opportunities analysis?
What are the sources of business opportunities
analysis? Describe.

3ryan/ OR
ATE TOEvi faEeor @9 £7 aEr vaievi Eeem

F-3033
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AanT @ e ¥ guia S|

Whatis external environmental analysis? Describe in
briefthe external environmental analysistechniques.

B®ME - 3/ Unit - 3
. FOTHaT SEER @ S HiisE| I SEER B
e fada o)

What is meant by entrepreneurial behaviour? Explain

the main characteristics of entrepreneurial behaviour.

FEr/ OR

"SET @1 ATHT 5 IRalaed U Tgania fiar 217
GEEIEN

Social responsibility of business is a two way pro-
cess”. Explain.

5®18 - 4 / Unit -4

. Jaftrn fawm SdEn 7T &2 SHE AATHTES Heie
Fifoe|

Whatis entrepreneurialdeveloped program? Give its

F-3033 P.T.0.

(4]

critical evaluation.

Jean/ OR

Faiiar aem Seed 3 Fa1 ed 2?2 9N § 599!
et st 3 wRE HIROT Fanse|

What isthe meaning of entreprensunal development
programme? State main causes of its slow progress
in India.

BFTE - 5/ Unit -5

. TETER & W0 ¥ &9 & e G § 3w o aim

! o S|

Discussthe role of the entrepreneur as an innovator
in economic growth of the country.

327/ OR
“Ferll 23 1 AR & HEeR) B Gt B gl
T

"Entrepreneur is generator of employment opportuni-
tiesin country”. Explain.

F-3033



